10201904204 =X Bk

BRIRERIL
e 1@ | 2[@ | 3@ | 43 | 5@ | 6@ | 7@ 5
KREAEDE :
KF4—-X 2 2 2 0 1 7
XhEWa l kers 1 (1] 1 (1] 3 5
BEFHETF
-7
K=Kk 3 ] 7] 3 - | B | & |t | " wW|® | 5|5 |® S ] ® "
AT NEO 8#&0BSSHOSOH & F @ | & : g Alw ||, : g g = | 2 £ | = i I i 5| # p
SRR TF I ERR R ] BE | BE ] BR || BE || BE || @R | 5 & = - 8| & | 7| ¢ 1|7 | % | % | & 9| ™| & = n
1) [®11vk =J0% 0 Bk 25|%m ERINEO]| 156 | 8 | 4 [ o[ o | 5[ o] ofoool19f14| 5[ 1 [ 3[2[1]1[o]e]| 3] 357 [3
Q) |®423t4d —Jo H2 |1 —Jo 99|Z8& Fi[NO) 535 | 6 | 1 | o] 2] o] o] ofiool1t| 7 2] 0o 3] o] 2]olol 1] 1] 28 |2
3) |®582& ®30 EZ |1 Bk a5 516 |10 10] 0 [ 2 [ 8 | 0 | 0 [.200[/ 3021 7 [ 1 [ 6 | 2 [ 3| 1] 0] 7] 4] 333 ][5
1o n2 — = E]  <rEm®E [ 1]2]3]4]5]6]7 e 1-NEO (2/)
©) |®12FAmE k| | =k (1) | %28 2 NO) il il Rl A e 1-55vh (2@)
7) | ®367mk 2 — IR Q) |#HiR FBlEn] 3 | 58 | i | 5 | 4@ mER
8) | ®6FHE P |1 [ RIEEE e A EEEE HR% (5FfR)
) |®2%=E FEER =i NI TION —T=T=T=1= ES 3-34 (1E) . &0 (5E) . LAw (5m@)
1) |®23FH =& &0 =R~ —l=1=1=1=
1) |®537M [ =R% (5) |28 N [K O] i el el el
) |®114F R i R 1 (6) | %M BF(NEO] |#%|#%[#%|D|D w® w 5| 5| = &R =] 2
O |G17FER i ook EZ HEESEEEERE T | * = =% |%|= =
IR=LF> 1-n228 (1[@) ey S e e v H | B8 o 2 % | ® | & % P = = [
=837 @ |AHE BB el [T 2| T | R 1 R NBAE| 8
—847 9) [fae BLA] S|s|s|[=Z|= ®6711E 15134l 1 [ 2o 1]Jo]o]2]2] 30873
Pt 2-&h (3E) KO (4[E) 40 | E#k Athln>sea) || @] £ | £ ®218 13/ 6|0 0] 6 1 1 1 0| 3]0 .000 12/3
RERH v - ®34EH 2 1 0 0 0 1 0 0 0 0 0 .000 1/3
B BAZ _
BHE GT%) o |FRRPAZ(a i tol|D|D|D|BE]A & 30/20] 4 [ 1|82 2] 1]0][5]2] 200 5
L = g |2 gle|Z|2|* 28 |g|®8|= % | % | % |5 | % s B # =
& F % alE | g2l f | clalelwlel g mlal®|al® 8 1
F-LITERME R[] BR [0 BR [na] BR [0 BR [0 BR [ BR [n= 5 % B | & RN R 5 % %
| +% ho EX |1 usiag usiag 99|&88 ZiND) 438 8 3 1 1 0 0 1 4 1 2 0 2 0 0 0 0 0 0 0 571 1.000
BPIEEER 0 EZ |1 &R 03[R HE(ED] 167 [ 3 [ 3| 3|1 |oJofJo|l1]1lolololoJolo|lo]o|[1]o] 375 167
@) &P |Fws— R Bk Bk a4|E@ #MEv>-1 | 389 [ 9 [ 3| 1ol oJoflofloJol1]o[2]o]lolo]lo]o] o of 500 .38
@ = |z — I =t ZE R 22| =41 &71[(24] .158 8 3 2 0 0 0 0 0 1 0 0 1 0 0 0 0 0 0 0 .333 .000
&) — ko B Bk =& 31|ETFANIKO] | 286 |10 3| 2| o] o] ol oloJoJo| 1] 1] ololo]o|o] 1] o] .385 .381
6| #®D [NEO A& Bk BEER | 1 25|zmERINEOCI| 300 [ 9 [ 3 [ 1 [ 1t Joflo|lol1[1]olol 1] 1[o]lo]o| o] o] o] 417 | 300
MIEEDEE =Jo R BEER | 1 RIS 33 [ 93] 2]ofloJololJol1lolololt]o[lo]lo]o]ofof 429 | .38
@) | =it ks #30 Uz #3J0 13| A BB (e .143 9 3 2 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 217 .143
©] D= [LA% =i Ty 3 [t BlLAw] 059 [ 9l 2] 2]oloJofloloJolo|l1[ololo[lolo|o]ofof 200 .059
| #WxE |[hBrA IR = 6|taminseal| 056 | 9 [ 2 [ 2| o[ ol ool o|lolo[olo[olo|lo[o|[o]o] o] .190 | .05
@] DA Jaito ER =J0% 17mmElaitol] 250 | 2 [ 2 [ 2 1ol olol 1ol 2]olololololol1]lo] o] 250 .250
ast 249 [10[30]20] 4 [ 0] 0 | 1 | 7 [ 5] 5] 2] 8] 2]0]0]O0] 1] 2] 0] .353 [ .326

St A EWalkers




